BIE o s

P R Ge 0 TE NI R X R SR MR R, i R G B
(performance) 24§ F Gt 7€ 55 b T4E B (19 1% 22 K/, BAR B 1B 0T LA AS [
I PEH F6 b o 491 G 58 22 19 B0 R/ 5038 J2 7 O BT HR AR AR 55 . BT AR I &R
GBI E B MR E RS LGS . XEAE S5 IR 2 — 0, ] dn g
A3 G5 B T PR R R 0 A FIAS 5 o0 8 PR BE A 25 Bl T30, 503 DR s
WAL L 76 22 G5 04 F At Hb 7w A A 45 Bl T 40 08 22 40 00 i o O B A

Rt A MG 5 5 AR R G0 LR TARE 00 . 25 H & ok PR AS
WA R G HERE BT LA & — R e M5 . TR G T PR R R
PGS . X —E e U G 5 B B I 7S 0 AR AL D R
EZAER T REMREIRZE . 2 TS THBEET —Fhitie,

3.1 RAESHr

LN HIE L R G B RLRIEN  — A 5 A A G S AR E R/, R
MU PR RGN, SR 5 I A S T B BB SR A R IE 2k DT
PEAORAE B BESR AR o BT LA U0 B i A 5 B9 B A 197 12 106 T G A (/)
AR AR LA S B m s B A S

R GE BT I — e i — iR (9 15 5 1 O BB AR EAT 20 A XA
PRUAE 50 B AT E BT 7

B MR R G WUE AT AT 55 K i sE . Bling — P = das . HH 1
JE BT BT oK 28 A TEOL T A 2 By ) B s vk A By o DAL O X S il 7 3k BE B & g ok
Y 25 T8 AR 0038 2k - AR Y B0 i 50 b DA S L A L Bl A
B I A0 AR Bl 3 1 B AR 54 368 o S o 0 A O o7 A R AR R A S R IE R AR
HZBES R G R ARG S .

LUK AE 5 SRy A I T S B i D0 i — 6 i A LR T 20 A A
5.

N PABE B R GE 4 23 08 B — 28 AR S S 49 Sk 1 I 4 AT X i R A
7 AT 53 B I PO B R



311 MABMBRZHNENES

l 3-1Ca) S HE AR R 0 — B Mt R i 28 . ™A% R U, X B sh 2 BEFLIY . & 3-1(b)
e IR s M4 . A W Bl DU B %5 5 =28 P E— 1 B i B
4 o DL A AR 2% b 3 45 ) i AR S AR AR AR ] — A I sX B B 15 5ok ik .
WA A J+20°, AW N 10 s, I8 4 XM 55t ol LLE 7
0(1) = Opnsinwt (3-1)
K 0= 20°,w=2nf=2r/T= 0.628 s ',
PN (3= 10 AT A5 XTI (14 1 832 R £ 0 B Sy

() = OoewCOSwl = 0.,.,COS wt (3-2)

0(t) =— 0. w'sinwt =— 0,..sinwt (3-3)
A 0 =12.6°/5,0, =7.9°/5",
HGB-D~KG-DRIET XM AGFS R, WWIE 3-2, X L BE IR A8 1k 1)
Btk RS R IRIT ARG HE .

oAl A

100s

(a}

@)

1%
)
=)
i
N
1)
1)
Il
T2
1
\
/
! i
]

002040608 1.0 < < -
. ~ - ]
w/iradis Se B ) ~
"

P 3-1 R IR 4 428 F3-2 IEZEFES

312 HREHEZYITEHRHNREARRERZBEAN

PRAEAR T 1 H AR A5 055 5 | 2ol Ao I SR R il 14 05 o2 A A e AR A AR 55, DLIAD 3-3

=0 | 4] |
A |

I(_) R ZU '{(+]

o]
R 3-3 ERERSE S KAT HARE f G R



=4 & gkt

WIRER AL T A O RER DV V S8 Zo (FEEL CATH BAs . I8 SR KB
B Xo . MRAEILTE &

Vi
A = arctan —— = arctan(at)

X, (3-4)
E = arctan Zo/ X, = arctan b (3-5)
N1+ Ve/X)! V14 (at)?

A a=V/X,,0=2,/X,.
R 3-0K S5
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